#tHZEZAN BASEZER LETEIXHNZFEE ()
WR26F4H LH D BER2THF3H3IH £ C

i

¥

TR26FE

AT

=S & 3ef
HEHE YT ¥ 5% se G
I FEFEFNZ O
1. BEFRHILA
DOBZILA 0 0 0
MRERSBERA 0 0 0
XEEFHAEEHRRSIRA 0 0 0
FTEHESREHEEREARA 0 0 0
EERBERA 0 0 0
EESSMEIRA 0 0 0
RIS EIRA 0 0 0
QIR A 0 0 0
S EFIEURA 0 0 0
HEUZA 0 0 0
QU AEEEH D DBARUNA GEEEE) 250, 560 220, 889 29, 671
FXEBIRVDBEFZBIRAG (D) 250, 560 220, 889 29, 671
i TR265FE AIEE -
R B YT 3% i W
2. BEFFZH
OEFEXH 180, 000 170, 000 10, 000
HREESEEEE 40, 000 30, 000 10, 000
X EA R B E T H 40, 000 30, 000 10, 000| 1AF%243 12> % 10, 000
X EPRRFER B E T 0 0 0
HRARSESEE 50, 000 50, 000 0
XEEEARERH 30, 000 30, 000 0| BRBIMR R E A KAl 4
XEHEFARERRSIH 20, 000 20, 000 O|F2EIT kK BT e R E 2 HE
EESEEEE 50, 000 50, 000 0
EEREXH 0 0 0
XHEES - RESXH 30, 000 30, 000 0
RERI MR E 20, 000 20, 000 0
BEEXE 30, 000 30, 000 0
X R & K 30, 000 30, 000 0 ?ﬁ(ﬁf%ﬁg”ﬁ“m%
HATEEEEE 0 0 0
ERREEREERH 0 0 0
XEHEAFEXERH 0 0 0
ZTDMDEERE 10, 000 10, 000 0
QEBRE 170, 000 170, 000 0
WREXBEXH 30, 000 30, 000 0
BIEEHREXH 10, 000 10, 000 0
XEHFEREBAZL 10, 000 10, 000 0
RIS AEZ 0 0 0
REEXH 105, 000 105, 000 0
FE =R ER 5, 000 5, 000 0|2
XEEEREER N 100, 000 100, 000 0|2 - ke
FEHEEREERY 0 0 0
HFHHXH 5, 000 5, 000 0
HEMSRIEREAETH 0 0 0
HWEXH 10, 000 10, 000 0| 32 HRHP A 7  EL Y
Q= ~DRAE I H 0 0 0
EFH~DRASZH 0 0 0
K OXEHRWEFFHZHE (O 350, 000 340, 000 10, 000
KR EZRLDEEINZ =55 (D) [A-C] A99, 440 A119,111 19,671




EHR7-2

IR & E U DER

1 REFEILA

DEE & ETHURA

QEILEHAURA

RAEBHIAG

(=]

(=]

(=) k=]

2. IR EFHIM

OEEEERSXH

QFEEERSXH

AR H

REFEBHET

REFBINZEH 0)

=l i=1=1i= k=)

== =1i=1 k=)

===k E=1k=}

I B4 755 B D &R

1. BATSEENILA

DEAZIRA

BA TSR ENRAGT

0

[=3k=]

2. AR S H

DEAEZIREZ H

MR A

BATSE BN =58 (H)

VFfEgEXH (D)

0
0
0
30, 000

=1 i=1i=1f=]

[ ERX R IR % =28 (J) [D+G+H-1]

A129, 440

AT149, 111

19, 671

XEBHR UV DURZ EEE

e BT ST AR HR L VAR S =2 4R (L)

444,213

459, 858

A5, 645

AT D EP R L DS

o 2 ST ER IR L VR EAREEUR 37 = 58 (0) [J+L]

314,713

310, 747

4,026

LD AR DI E

(BT XA XEADHE, OFXTADEE,)



